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The figures in the margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Nlustrate the answers wherever necessary.

Group—A

1. Answer any ten questions of the following : 10x2
(a) What is called collaroid root? Give example.

(b) Give the features of Cyathium inflorescence.
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-(c)” What is called perennating organ ?

{d) Define Bars of Sanio with example.

{e} Distinguish between the endosperm of angiosperm &

endosperm of Gymnosperm.
() What are polymorphic fungi?
(g} Define transfusion tissue with exarnple.
(h) What is called isomorphic alternation of generation ?
(i} What is plasmid ? State its function.
()) What is coal ball ?
(k) What is pollinia ?
{I) Discuss the medicinal importance of Apacynecese.
(m} Write difference between spore and pollen grains.
(n) Name one aquatic species of Riceia.

{0) Define cleistogamy with example.
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Group-—B

2. Answer any five questions of the following : 5x8

(a) Describe with sketches the lytic cycle of Phage virus.
8

(b) (i) Describe the female cone of Cycas.

(iif Describe the economic importance of fungi.
4+4

(¢} Define pollination. Discuss the contrivances of cross

pollination with suitable examples, 2+6

(d} (i) Discuss about the process of auxospore formation

in pinnatc diatoms.

{ii) Describe the disease cycle of Late blight of potato.
4+4

(e} Give the name of reserve food materials and pigments

of the following cases :

Charophyceae, Pheophyceae, Cyanophyceae &
Rhédoph'yceae. ' : 8

{f) Discuss the diagnostic features of the family.

Arecaceae & state its economic importances. 4+4
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(8) (i) Diagrammatically represent the Life-Cycle of

Saccharonyces.
(ii) Write note on Petrification. 5+3

(h) Flower is a modified shoot’ - Justify the statement

with example. 8

Group—C.
3. Answer any two questions of the following : 2x15

{a) (i) Why Asteraceae is considered as most advanced
family among dicotyledonous families ? List up
two oil yielding & two weed plants from this

family.
{1} Discuss about the anatomy of the needle of Pinus
with sketches, 6+2X2+5
(b) (i) Describe the different processes of fruits & seeds
dispersal mechanisms.

(if) Distinguish between Bentham & Hooker System
of classification that of Taktazan’s system of

classiﬁ_cation. 8+7
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(c) (i) Describe & draw & labelled fruitbody structure
of Agaricus.

(i) Draw and describe different phases of bacterial

growth curve, 8+(2+5)

(d) (i) Describe the spore bearing structure of a
heterosporous pteridophyte studied by you.

(i) ﬁiagrammatically describe the -male cone of

cycas.

(iii) Write the importance of studying fossil.

5+7+3
(e) Elaborate briefly : (ény three)
{iy Endospore formation in bacteria ;
(i1) Gametophyte of Selaginella ;
(iij Economic importance of Brassicaceae :
{iv) Sporophyte of Riccia. - 5x3
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